Algebra 2







Name: _________________________

Unit 1, Day 2







Date: ______________ Period: _____

Graphing Lines:  Slope, Intercepts, and Slope–Intercept Form

Slope: _______________________________________________________________________________


_______________________________________________________________________________ 

m = __________________________________ = ____________
The slope of a line is always the _________, regardless of which two points are chosen.

Examples:  Plot each set of points, draw a line through the points, and find the slope.


	1.  (1, 2), (2, 5)


	2.  (–3, 5), (1, 2)

	Notice the line ________ to the ________ and the slope is ___________.
	Notice the line ________ to the ________ and the slope is __________.


	Horizontal Lines
	Vertical Lines

	The graph of _______ is a horizontal line __ units from the x–axis.  

	
	The graph of _______ is a vertical line __ units from the y–axis.  

	


Examples:  Find the slope of each line.

	1.  y = 3



	2.  x = 4

	The slope of a horizontal line is ____________.
	The slope of a vertical line is _____________.

Division by _______ is not _____________.



	Intercepts:  __________________________________________________

__________________________________________________


	


Slope–Intercept Form of a Line

The slope–intercept form of a line with slope m and y–intercept b is:
Examples:  Write each equation in slope–intercept form.  Find the slope and y–intercept of each line, then graph the line.

	1.  y – 3x = –4

slope:

y–intercept:

	2.  2y + 5x = 4

slope:

y–intercept:


Mixed Practice:

	1.  Find the slope of the line passing through the given points.

	a)  (1, 3), (4, 7)


	b)  (0, 3), (–2, –4)
	c)  (–4, –2), (–2, –5)

	d)  (–1, 4), (–3, 2)


	e)  (2, 5), (2, –4)
	f)  (4, –5), (–1, 5)

	2.  Change each equation to slope–intercept form.  Identify the slope and y–intercept, then graph the line.  Use a ruler to draw straight lines.  Show all work and reasoning.

	a)  2x – y = 6
slope:
y–intercept:

	b)  5y + 10x = 15
slope:

y–intercept:



	c)  2x – 9 = 3y
slope:

y–intercept:


	d)  7y + 14x – 21 = 7
slope:

y–intercept:



	e)  3(2y – 6) = –6x
slope:

y–intercept:


	f)  –9x + 3y + 27 = 0
slope:

y–intercept:



	g)  –6x – 4y + 4 = 0
slope:

y–intercept:


	h)  3x – 6y = 12
slope:

y–intercept:



	3.  Given the graph, write the equation of the line in slope–intercept form.   
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slope = _____ y–int: ________

equation: __________________
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slope = _____ y–int: ________
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slope = _____ y–int: ________

equation: __________________
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equation: __________________
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slope = _____ y–int: ________

equation: __________________
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